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ELECTIVE COURSE : COMMERCE
ECO-14 : ACCOUNTANCY-II

Time : 2 hours	 Maximum Marks : 50

Note : Attempt any four quetions including question no. 1

which is compulsory.

7+7

1.	 Attempt any two of the following questions :

Explain the different types of branches from
the accounting point of view.

Explain the rule of Garner versus Murray
with an example.

What are preference shares ? State the rules
relating to redemption of preference shares.

What is cash flow statement ? State its

importance.
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2.	 A, B and C are partners in a firm sharing profits 12
and losses in the ratio of 5 : 3 : 2. The balance
sheet of the firm as on December 31, 2008 was as
follows :

Liabilities Rs. Assets Rs.
Creditors 20,000 Cash at bank 11,000
Bills payable 30,000 Debtors	 34,000
General Less : Prov. for
Reserve 40,000 D.D.	 5,000 29,000
Capital : Stock 20,000
A 60,000 Machinery 80,000
B 80,000 Furniture 40,000
C 50,000 Buildings 1,00,000

2,80,000 2,80,000

C retires on that date subject to the following
adjustments :

Goodwill of the firm to be valued at
Rs. 30,000.

Machinery to be depreciated by 10%.

Stock to be appreciated by 20%.

Buildings to be appreciated by 10%.

(e) Provision for Doubtful Debts to be increased
by Rs. 3,000.

Prepare Revaluation Account, Partners Capital
Accounts and the new balance sheet of the firm
after C's retirement.

3.	 (a) State the importance of departmental
accounts.	 4+8=12
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(b)	 Z Ltd. of Delhi has a branch at Agra. The
Head Office sends goods to branch at cost
plus 50%. From the following data, prepare

O	
the necessary accounts in the books of the
Head Office under Stock and Debtors

O
N
O

The accounts to be prepared are Branch
Stock A/c, Branch Adjustment A/c and
Branch Profit and Loss A/c.

4.	 (a)	 State the limitations of Ratio Analysis. 6+6=12
(b)	 From the following extracts of balance sheets

of a company as on 31-3-2007 and 31-3-2008
compute the amount of Funds from
operations.

As on
31-3-2007

As on
31-3-2008

Rs. Rs.

Profit & Loss Appropriation A/c 60,000 80,000
General Reserve 40,000 50,000
Goodwill 20,000 10,000
Provision for Depreciation 20,000 24,000
Preliminary Expenses 12,000 8,000
Proposed dividends 10,000 12,000

system.
Rs.

Goods sent to branch by H.O. 50,000
Goods returned by branch to H.O. 1,000
Cash sales by branch 35,500
Credit sales by branch 8,000
Opening stock at branch 10,000
Closing stock at branch 11,000
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(a) What are rights of a hire - vendor in case of
default in payment of an instalment by the
hire purchaser ?	 4+8=12

(b) An engineering company purchased a
machine on hire purchase and made an
initial payment of Rs. 8,460 on January 1,
2006 and further annual payments of
Rs. 20,000 on 31-12-06, 31-12-07 and
31-12-08. The cash price of the machine was
Rs. 60,000 and the vendor charged interest
@ 8% p.a. on the outstanding balances.
Show the appropriate accounts in the books
of the hire purchaser assuming depreciation
@ 10% p.a. was to be charged on the
machine on written down value basis.

(a) Following is the balance sheet of Goyal
Brothers as on 31-3-2008 when a company
is formed to acquire the firm's business. 8+4=12

Liabilities Rs. Assets Rs.

Capital 9,50,000 Goodwill 70,000

Creditors 1,20,000 Fixed Assets 10,00,000

10,70,000 10,70,000

The company took over the fixed assets at
Rs. 9,00,000 and refused to accept the
creditors. The purchase consideration was
agreed to be discharged by the issue of
42,500 equity shares of Rs. 10 each and the
balance by the issue of 6% debentures at a
discount of 5%. Give journal entries in the
books of the company and prepare its
balance sheet.
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(b) Describe the accounting treatment of
debentures issued as a collateral security by
a company.
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